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Question 19 (7 marks)
S U
(a) Construct a parking light circuit in the box below, using all the symbols 5
provided.

(b) Explain how you would use a voltmeter to test voltage drop to the parking/tail 2
light circuit. '
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2015 HIGHER SCHOOL CERTIFICATE EXAMINATION
Automotive
Mechanical Technology

Section IT (continued)

Question 21 (9 marks)

(a) Why should a Wbrkshop vice be left with a gap between the jaws when it is not 1
in use?

(b) Under what circumstances should the drilling speed be changed on a pedestal 2
drill?
e Anfng. Aoschac. meded......
~ ' f A%
SO 0 UADOASR-... A2 O AV\\\/\.\\,\V&
Moninasse o e .

(c) What precautions should be observed when using an electric welder in the 2

workplace?

Question 21 continues on page 16
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Question 21 (continued)

(d) Describe the advantages of using electric-powered tools compared with air-

powered tools.
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End of Question 21
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